Section ).\ — Practice Problems

Give four examples for b so that the following trinomials can be factored
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Give positive and negative examp'les for ¢ so that the following trinomials can be factored
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9. A student factored x3 — 5x% — 14x into (x — 7)(x + 2). Explain the error that was made.
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Factor Completely
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Factor Completely
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40. The volume of arectangular solid is
(x3 + 7x% + 12x)cm?. Determine its
dimensions in terms of x.
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41. A sheet of cardboard measuring 5in by 7in

has squares x inches wide cut from each
corner. Then the sides are folded up to

form an open top box. Express the volume
of the box in factored form.
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Factor each binomial completely
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Factor each perfect square trinomial completely L P
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